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Find the standard form of the ellipse.
Ex 1) major axes:  (2, 6) and (2, 0) and minor axes: (1, 3) and (3, 3)

Ex 2) foci:  (0, 0) and (0, 8) and major axes length = 16.
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Ex 3)  center: (0, 4), a = 2c, vertices: (-4, 4) and (4, 4)

Ex 4) The area of the ellipse in the figure is twice the area of the circle.  What 
is the length of the major axis?  (Hint:  Area of an ellipse is given by A = ∏ab.

(a, 0)(-a, 0)

(0, 10)

(0, -10)
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Ex 5)  Astronomy:  The comet Encke has an elliptical orbit with the sun at one 
focus.  Encke's orbit ranges from .34 to 4.08 astronomical units from the sun.  
Find the standard form of the equation of the orbit.  Place the center of the 
orbit at the origin and place the major axis on the x-axis.


